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MOCK QUESTION PAPER - 5

1.fX ={a,b,¢,d},Y ={f,b,d, g} Find Y-X?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_N4zYIvdH4qLs

2.1f A={-11},find A x A x A.

o Watch Video Solution

3. Convert 240° into radian measure.

° Watch Video Solution

4. Simplify 5 + 319 ?

° Watch Video Solution

5.1f "Cg = "Cs find the value of 'n'.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_lpopbdmNYlGJ
https://dl.doubtnut.com/l/_Tt6W8oSccnSx
https://dl.doubtnut.com/l/_yzSJSDCjjCU1
https://dl.doubtnut.com/l/_bs51mqfFWsut

6.If n'" term of the sequences isa,, = ( — 1)" '5" "1 Find

a3?

o Watch Video Solution

7. Find the value of x for which the points (x,-1) (2,1) and

(4,5) are collinear

° Watch Video Solution

8. Evaluate Lim az +b
z—-0cr +1

o Watch Video Solution



https://dl.doubtnut.com/l/_bs51mqfFWsut
https://dl.doubtnut.com/l/_mryhmAyM49nf
https://dl.doubtnut.com/l/_dMpoPC2pA4mp
https://dl.doubtnut.com/l/_5wn1nY51EC9B

9. Write the negation of the statement ."The sum of 3 and 4

is9'?

o Watch Video Solution

3 1
10. Given P(A) = 5 and P(B) = T Find P(A or B), if A &

B are mutually exclusive events.

O Watch Video Solution

1.In a committee, 50 people speak French 20 speak Spanish

and 10 speak both Spanish and French. How many speak at


https://dl.doubtnut.com/l/_ViRg8Qxaw5MZ
https://dl.doubtnut.com/l/_wO2ImWN3n0BX
https://dl.doubtnut.com/l/_bhnzHxwfN5e3

least on of the these two languages ?

o Watch Video Solution

2. If A={3,5,79,11},B=(7,9,11,13},C={11,13,15} and D = {15, 17},
find

AN(BUCQO)

° Watch Video Solution

30 (2 4 1,5— 2) = (2, 1), find the values of x and
. §+,y—§ = §’§’n e values of x an

Y.

° Watch Video Solution



https://dl.doubtnut.com/l/_bhnzHxwfN5e3
https://dl.doubtnut.com/l/_tYZW5qlx6tnt
https://dl.doubtnut.com/l/_eiCyw1N3k5Eg
https://dl.doubtnut.com/l/_U14RBVPnmu45

cos 7x + cos bx
4. Prove that — + - =cotx?
sin7x — sinbx

o Watch Video Solution

5.cosdx = 1 — 8sin®z cos® z

° Watch Video Solution

6.5olvez? + 3z +9=0

° Watch Video Solution

3(x — 2) - 5(2 — x)

7.Solve
- 3

o Watch Video Solution



https://dl.doubtnut.com/l/_U14RBVPnmu45
https://dl.doubtnut.com/l/_S4Mcs94Jp4VQ
https://dl.doubtnut.com/l/_u7ipzRcv4Sq0
https://dl.doubtnut.com/l/_BdNHzj9yxX4C

8. The vertices of A PQR are P(2,1),Q(-2,3) and R(4,5). Find

the equation of the median through the vertex R.

° Watch Video Solution

o. Find the angle between the lines

V3t +y=1and z +,3y=1

° Watch Video Solution

10. Three vertices of a parallelogram ABCD are A(3,1,2)
,B(1,2,-4) and C(-1,1,2) .find the co-ordinates of the fourth

vertex ?

I O war_s_L vt l_ _ ~_ .. _ l


https://dl.doubtnut.com/l/_BdNHzj9yxX4C
https://dl.doubtnut.com/l/_TbibXpB1QD1O
https://dl.doubtnut.com/l/_uVqRQw7NaoQ7
https://dl.doubtnut.com/l/_4PoPbHvCFwS0
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1. Find the derivative of

flx)=14+z+2*+2°+.. +20%atx=1?

° Watch Video Solution

12. Write the converse and contrapositive of the statement

"If x is a prime number then x is odd "

° Watch Video Solution

13. Find the variance of the following data 6,7,10,12,13,4,8,12 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4PoPbHvCFwS0
https://dl.doubtnut.com/l/_aIWpSAKa0BPQ
https://dl.doubtnut.com/l/_JGnxJb7zbiY8
https://dl.doubtnut.com/l/_LNIXqj7yGnA1

14. A letter is chosen at random from the word
'ASSASSINATION' Find the probability that latter is a vowel

(ii) a consonant

° Watch Video Solution

1. Let U={1,23,4,56}, A={2,3}B=(3,4,5}. Prove that

(AUB)'=A'"NB’

° Watch Video Solution



https://dl.doubtnut.com/l/_rTMMw8ehHJkQ
https://dl.doubtnut.com/l/_7K1zIHjkGn2Q

2. Let f(z) = x?, g(z) = 2z + 1 be two functions. Then

find

(i) (f + g) (x) (i) (f - g) (x) (iii) (fg) (x)

° Watch Video Solution

3. Find the value of tan(%) ?

° Watch Video Solution

16
4. Convert the complex number — ——— into polar

1+i4/3

form.

° Watch Video Solution



https://dl.doubtnut.com/l/_hdhKarK8VN4l
https://dl.doubtnut.com/l/_pYAfRIKwChFQ
https://dl.doubtnut.com/l/_yTBVY4A1NfsV

If (z + iy)° = u + ivthen show that

+

5
u _ 2 .2
. —4(:c y)?

< |

o Watch Video Solution

6. How many words with or without meaning each of 3
vowels and 2 consonants can be formed from the letters of

the word INVOLUTE.

° Watch Video Solution

10
7.Find the middle term in the expansion of (% + 9y>

° Watch Video Solution



https://dl.doubtnut.com/l/_yXfjTEBe4NjC
https://dl.doubtnut.com/l/_nq5uwZwZQbLT
https://dl.doubtnut.com/l/_qayb1DH9i2wZ
https://dl.doubtnut.com/l/_adyYv4RRQf8w

8. If the sum of three numbers in AP is24 and their product

is 440,find the numbers?

o Watch Video Solution

9.Find the sum of the series, 7, 77, 777, 7777, ........... to

n tems.

° Watch Video Solution

10. Find the equation of the parabola that satisfies the
given conditions :
Vertex (0, 0), passing through (5,2) and symmetric with

respect to y-axis.

| = |


https://dl.doubtnut.com/l/_adyYv4RRQf8w
https://dl.doubtnut.com/l/_u89HDIFCiyuE
https://dl.doubtnut.com/l/_CwxbzF0JhgES

I &J Watch Video Solution I

11. Differentiate of sin  wur.t. x from first principles

° Watch Video Solution

12. Verify by the method of contradiction that +/7 is

irrational number

o Watch Video Solution

13. 4 cards are drawn from a pack of 52 cards .What is the

probability of obtaining 3 diamonds and a spade ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CwxbzF0JhgES
https://dl.doubtnut.com/l/_LP5W0wAi1KLs
https://dl.doubtnut.com/l/_y0a5ZtNueFNi
https://dl.doubtnut.com/l/_CgrB60st2bvG

14. A die has faces each with number '1' three faces each
with number'2' and one face with number '3' .If die is rolled

once,determine (i) P(2) (ii) P(1 or 3) (iii) P(not 3) ?

o Watch Video Solution

1. Define modulus function, draw the graph of it, write its

domain and range.

° Watch Video Solution



https://dl.doubtnut.com/l/_CgrB60st2bvG
https://dl.doubtnut.com/l/_G6zIeLxaitX7
https://dl.doubtnut.com/l/_syMbNKlO3FWK

2. Prove that

cos’ —I—cos2(:fc + I) —|—cosz(w — 1) = E
3 3/ 2

o Watch Video Solution

n(n+1)(2n + 1) v

5 n € N.

124+22 432+ +n? =

o Watch Video Solution

4. Solve the following system of inequalities graphically

r+2y<82x+y<8z>0,y=>0.

o Watch Video Solution



https://dl.doubtnut.com/l/_gTxL38Vx4TdQ
https://dl.doubtnut.com/l/_c5HWY0PtCeMB
https://dl.doubtnut.com/l/_y2hzJcPk74Hl
https://dl.doubtnut.com/l/_UEtBDWlr011j

5. A committee of 7 has to be formed from 9 boys and 4
girls. In how many ways can this be done when the
committee consists of

(1) exactly 3 girls

(i) atleast 3 girls?

(iii) atmost 3 girls?

° Watch Video Solution

6. State and prove Bionomial theorem for any positive

integer n.

° Watch Video Solution



https://dl.doubtnut.com/l/_UEtBDWlr011j
https://dl.doubtnut.com/l/_Vvn5a9Jpe3Xp

7. Derive the expression for the length of the perpendicular

drawn from the point (z1, y;) yo thelineaz +by+c =0

o Watch Video Solution

8. Derive the formula to find the co-ordinates of a point
which divide the line joining the points A(z1, y1, 21) and

B(zs, yo, z9)internally in the ratio m: n.

° Watch Video Solution

) sin x
9. Prove that lim ( = 1) ?
z—0 xXr

° Watch Video Solution



https://dl.doubtnut.com/l/_BFIX13KDAScg
https://dl.doubtnut.com/l/_qGpC87hC9mEv
https://dl.doubtnut.com/l/_Cn8nG7EPXW6w

10. Find the mean deviation about the mean for the

following data.

Marks obtained | 10-20 | 20-30 | 30-40 | 40-50 | S0-60 | 60-70 | 70-80
Number of studenis | 2 3 8 14 . 8 3 1

° Watch Video Solution

1. To

cos(A + B) = cosz. cosy — sinz sin and hence find cos 75°

° Watch Video Solution



https://dl.doubtnut.com/l/_y911nBLEYtHS
https://dl.doubtnut.com/l/_qzMj7MnGHIzc

2. Find the sum to n terms series

P+ (P+23) (1P +22+3) + ...

o Watch Video Solution

3. Define hyperbola as a set of points derive its equation in

2 2
theformw— — y_ =1

a? b2

o Watch Video Solution

?

4. Ify =

i d
sinx + cosx - ( y)

sinxz — cos dz

o Watch Video Solution



https://dl.doubtnut.com/l/_FxRhTVT612iJ
https://dl.doubtnut.com/l/_VK56WthQBGEZ
https://dl.doubtnut.com/l/_oQiYn2a2E3ND

